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1. In a large corporate computer network, user log-ons to the system can be modeled as a Poisson process with a mean of 25 log-ons per hour. What is the probability that the time until the next log-on is between 2 and 3 minutes?
2. An electronic office product contains 5000 electronic components. Assume that the probability that each component operates without failure during the useful life of the product is 0.999, and assume that the components fail independently. Approximate the probability that 10 or more of the original 5000 components fail during the useful life of the product.
3. The diameter of a shaft in an optical storage drive is normally distributed with mean 0.2508 inch and standard deviation 0.0005 inch. The specifications on the shaft are 0.2500 
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 0.0015 inch. What proportion of shafts conforms to specifications?
4. The probability density function of the time to failure of an electronic component in a copier (in hours) is 
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. Determine the probability that

 (a) A component fails in the interval from 1000 to 2000 hours.
 (b) Determine the number of hours at which 10% of all components

       have failed.
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